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Commerce
Paper II

TSy
P9aeRT 11

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)
U TR, |E TR Hiedl

1. Under what circumstance penalty

oo

1. YIradeh! HIveAl UiRiEeda  Temel

AR TS TMhRAT Iar ?

can be imposed on a banking

COMPANY ..cevvvrvvrvrrrennns .

AN o N

(A) 3THF 9 Fehld I HIGT HIT

(A) For submitting false or

inaccurate returns (B) “=dcst Tf¥eRIS ST9e <3di Sied
(B) When it is unable to pay its Exupiciiceretio i re il
debts

(C) SgEs ARy =JodE SHedned
Herferd shell S| AR
(D) gEcs AR TR TaH Il

(C) When the business is not

carried on for public interest

(D) When bank accepts deposits in

foreign currency ESiCanl
2. In bank guarantee, the number of | 9.  31f¥eRIy g6 YT~ qe] HIfse

parties involved in the agreement ST
ATE e . A) 9
(A) Three

(B) Two B)
(C) One €) T
(D) Four (D) =X

3 [P.T.O.



The following one is absolutely
essential for a special crossing :

(A) Two parallel transverse lines

(B) Words ‘And Company’

(C) Words ‘Not Negotiable’

(D) Name of a banker

Which of the following is the

purpose of a ‘phishing e-mail’ ?

(A) Extracting personal financial
confidential data

(B) Misrepresentation of facts

(C) Email to divert attention

(D) Email to promote marine
products

.................... is an institution of credit
where reciprocal liabilities of local
banks are counterbalanced against
one.

(A) Clearing house
(B) Stock exchange
(C) Discount house
(D) Treasury

A transaction where financial
securities are issued against the
cash flow generated from a pool of
assets is termed as ................... .

(A) Securitisation
(B) Credit swap

(C) Credit linked notes
(D) Total written swaps

MAR - 50223/11—D

Yeletiehl IO ofrel forie Ywenremet
TAfeeR AERTaS AR 2
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TEUT.

(A) wfa
(B) 9d 3A<eIEEd
(C) "a ffeq o=

(D) T&hd fafed cameEad™ ol




10.

...................... is a conversion of foreign
currency bill into home currency
liability.

(A) Confirmation

(B) Securitisation

(C) Domestic Capitalisation

(D) Crystallization

This technique assumes the basic
principle of “vital few trivial many”
while considering the inventory
structure of any organisation and is
popularly known as .................. .

(A) ABC analysis

(B) Bill of material

(C) EOQ

(D) Perpetual inventory system

On how many pillars are the
Basel-I Framework based ?

(A) 4
(B) 3
(C) 2
D) 1

..................... is a market exchange
rate decided by supply and demand
factors.

(A) Floating exchange rate
(B) Indirect exchange rate
(C) Variable rate

(D) Spot rate

10.
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N oA NN

Wehd T JUEre el = <ddd
B0 {0 U

(A) TRIRI

(D) ThicHHO (FHITET)

HIVTE T ATTHISIT= SEd
o FEam * ofew W HieaaH; 3T
TR A A AT JAYd dxaAr=
IR hedl Sl

(A) TaEr fagero

(B) wrEAErdt gus
(C) 3fua sTeY Ut

(D) HETEED AR TN
JTA-1 = gEAa fedt snurEy
AR ?

(A) 4

(B) 3

C) 2

D) 1

BT ANV & ReSur=A1 S
i gomn IeRUs faque €T 8T,

(A) @ fafma <2

o o

(B) 39T« TAMHT X

(C) 9
(D) 3UTs¥ 3TYa] TIeh T

[P.T.O.



11.

12.

13.

PQR company produces range of
toothpaste, toothbrush, toothpowder,
mouthwash and shaving creams is

an example of .............. .
(A) Upselling

(B) Direct selling

(C) Mass selling

(D) Online selling

..................... media is rural specific

(A) POPs (Point of Purchase)
(B) Print media press

(C) Demonstrations, decorated

bullock carts with advertisement

pannels
(D) TV shows

.................... is modern form of direct

marketing.

(A) MOM-Mail Order Marketing
(B) DMM-Direct Mail Marketing
(C) OM-Online Marketing

(D) MM-Marketing through mobile
phone

11.

12.

13.
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9. . IR, HUA IqHEA, Sagaa,
SaHSH, HEREE TEau off g
oIae Teft agfay SeUed TR I ©
< ST SR

(A) foa gt

(B) 9 faet

(C) &g fasht
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3

(C) wfedt HSTegT
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14.

15.

Marketing of services is characterised
o)) /2 .

(A) Performance, intangibility,
variability, perishability and
does not involve any ownership
transfer

(B) Tangibility, durability and
transfer of ownership

(C) Production, intangibility and
can be stored

(D) Production and consumptions
can be separated, ownership
can be transferred and stored as
per consumers expectations

Customer relationship has more to
do with value than relationship,
which lies in ................. .

(A) Customer experience, customer
data and retaining profitable
customer

(B) Process involving protocol
offering a systematic approach
to manage the interaction with
customers through-customer
retention, customer profitability
and customer life time value

(C) Managing customer information
through all customer touch
points

(D) Any attempt made to retain
past customers
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(A) UTEeh STIHE, UTeeh Hifgd! STOT TH
U UTEehi=l SITATEH]

(B) U foepfaul, U@ anvar 1
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(C) TTEsh HIfgda STIALTIT SITER
TTEehT=A HewaT=AT 3Tdel feign wost
Sl STl
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SIUATE TIH
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17.

18.

The. .................. concept believes that
consumers will not buy enough of
the company’s products unless it
undertakes selling tactics and heavy

promotion efforts.

(A) Selling concept
(B) Product concept
(C) Marketing concept
(D) Customer concept

Marketing companies use the
PESTEL analysis for understanding
the major macro environmental
forces. In this analysis ‘P’ stands

for .ooevieee. .

(A) Political factors

(B) Psychological factors
(C) Physiological factors
(D) Physical factors

Buying and assembling function is

closely related with

element of marketing process.
(A) Concentration

(B) Trading

(C) Dispersion

(D) Equalisation

16.

17.

18.
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19.

20.

21.

Targeting affluent customers with

luxurious goods is an example

Of e .

(A) Geographic segmentation
(B) Income segmentation

(C) Psychographic segmentation
(D) Behavioural segmentation

................. concept requires marketers
to balance three considerations
company’s objectives, customer need

and long term public interest.
(A) Marketing

(B) Societal marketing

(C) Production

(D) Product

Unless there is .................. , there can

be no contract.

(A) Consensus ad idem
(B) A common seal

(C) Goodwill

(D) A profit

19.

20.

21.
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I I TRET VAT UTeehioR olel

(B) 3cq= WEIHIT

(C) AR TR

(D) TdTcHS: WSl

I FhTITAT ST

faqurehcien Sl 3fese, UesdT=n

TS SAfur Srefepteld SHfed a1 A
FThHTHE HA HIEe AN

(A) fogum

(B) gANIYHE faquHE

(C) 3cqred

(D) 3R

FAX TS Tehd &L
(A) 489 A% 3eH
(B) 9H= 41

(C) &l Jed

(D) %1 AYAT <Y
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22.

23.

24.

The Maharashtra Goods and Service
Tax Act, 2017 is published in gazette

)+ RO .

(A) 15th June 2017
(B) 30th April 2017
(C) 12th April 2017
(D) 28th April 2017

What is the time limit to get the

information under RTI Act, 2005 ?
(A) 15 days
(B) 45 days
(C) 60 days
(D) 30 days

Section ................. of the Competition

Act, 2002 deals with goods.
(A) 23)
(B) 2(a)
(C) 2(b)

(D) 2(h)

22.

23.

24.
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HERISZ %] & Hell Hfoloreh hraral, 2017

0T 3ATAT-

(A) 15 I3 2017

(B) 30 UGt 2017

(C) 12 Tuar 2017

(D) 28 T« 2017

fedan AfIHR, 2005 1= Aifed! A<

FLIEES! fCaAett hrayqare!

T IR

(A) 15 feorg
(B) 45 fgag
(C) 60 fgor®
(D) 30 feorw

Tyl wEEl, 2002 9 o™

(A) 234)
(B) 2(a)
(C) 2(b)

D) 2(h)
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25.

26.

27.

Who can submit an application for

registration in form GST-REG-09 ?
(A) Non-Resident Taxable Person
(B) Input Service Distributor

(C) Person Deducting tax at source
(D) Person Collecting tax at source

Which one of the following is not an
essential element of a valid contract

as per section 10 of Indian Contract

Act ?

(A) Lawful consideration
(B) Lawful object

(C) Legal formalities
(D) Cross offer

The finder of goods has a right of

over the goods for his

expenses.
(A) Care
(B) Lien
(C) Equality

(D) Warn

25.

26.

27.
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GST-REG-09 &1 3Tae9s=: Fieuidrer
HIU IS el FE Ihd 7

(A) AT U STl

(B) &9 Tar1 faa=
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28.

29.

30.

Which of the following is not an
example of implied consent for

discharge of contract ?
(A) Novation

(B) Alteration

(C) Merger

(D) Change of law

is defined u/s 2(0) of the

Competition Act, 2002.
(A) Price

(B) Goods

(C) Consumer

(D) Competition

The first state to introduce the law

on RTI in India was .................. .
(A) Maharashtra

(B) Punjab

(C) Goa

(D) Tamil Nadu

28.

29.

30.
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JEICTURT ShIVT ShIRTeAT FfTqdi= He
STEATEd FHAT Qe BUH A BIVIR
R ?

(A) HIRE TR0

(B) INICIA ML sqe

(C) GHHeH
(D) <hTI=d 9

gl HERT, 2002 = HAH 2(0) TIR
HIMET AT FL0A AT Mg ?

(A) fraa
(B)
(C) ST

(D) ot

WRATITS ShivTeT TSI HIfgd = ST

FATT HEYYH STHAM AUl ?
(A) HENTSZ

(B) dS&

(C) e

(D) i
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31.

32.

LPG subsidy received by an

individual on cylinder for household

consumption is ................. .
(A) Exempt from Income Tax

(B) Taxable under income from

business

(C) Taxable under the head ‘income

from other sources’
(D) It’s not an income at all

Which of the following methods is
not specified as arm’s length price
in relation to specified domestic

transaction as per section 92 C(1) of

Income Tax Act, 1961 ?
(A) Resale Price Method
(B) Cost Plus Method

(C) Transactional Net Margin

Method

(D) Wholesale Price Method

31.

32.
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[T ATREe=A LPG = fafaeter

L I

(A) TR T T

(B) =@M SO &l
A R

(C) ‘3R AMH o= &
FHIAS 3

(D) & SO T

STIH HIFAA hed 92 C(1) TAR

AT HARNHEIS! WATAUeh] ShIvT TGl

g e fred R sheret T ?

(A) fFie fRrad ggda

(B) ufteaa sifuss gt

(C) Ha8R W gl

(D) WS Ted Tgdr

13
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33.

34.

35.

As per section 206 AA of Income Tax
Act, 1961, if PAN is not provided,
the rate of TDS shall be deducted

at :
(A)
(B)
(C)
D)

Normal rate prescribed
20%
30%

Normal rate prescribed or 20%,

whichever is higher

interest occurred on

National Savings Certificates VIII

Annual

issue, in the hands of an individual
shall be .................. .

(A) Exempt from tax
(B) Taxable only in 6th year

(C) Taxable on the basis of annual

accrual
(D) On receipt basis
The goal of tax planning is generally

related to .....ccuueeen...... .
(A) Minimise taxes

(B) Minimise scrutiny by income

tax department
(C) Optimise after tax wealth

(D) Maximise after tax wealth

33.

34.

35.
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3T ST 1961 HETA had 206 AA
FHR SR U TS AR o HI_T hieh T
el .

(A) Fefia sherean 9mH S
(B) 20% €A
(C) 30% T

(D) e Setea am= <A TR
20% <L TNk A S WA
AR

T s=d T VI difcieha e

(A) hTHH

(B) @A o g
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(A) T R

(B) o @rcAehed fhAM B

(C) IR 9 HIeTH
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36.

37.

Match the following :
Group ‘A’

(@) Compensation for loss of
employment

(b) Income by exploitation of forest
under Government approved
scheme

(¢) Income of a minor Rs. 1,000

(d) Dividend on shares of TISCO
Rs. 2,50,000

Group ‘B’

(1) Revenue receipt
(2) Capital receipt
(3) Income from other sources
(4) Exempt from income tax
Codes :

(@ ®) () ()
A 2 O @ G
B) 1 @ B @
< @ 3 @ @
D 3 @O @ @
Which of the following types of
donation is eligible for 50% deduction
without any qualifying limit under

section 80(G) of Income Tax Act,
1961 ?

(A)
(B)

Donation to Government

Donation to National Children
Fund

Donation to Jawaharlal Nehru
Memorial Fund

(&)

(D)

Donation to any notified temple

36.

37.
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el Jeodl
e ‘A’
(@) Rl TAeEd JhaM WU

(b) TN H=AT 9 A ST
ICEDE:]

(¢) 1,000 T U 3cq

d) 2,50,000 T9¥ TTHIT HITER
fHacen Tem=n fea

e ‘B’

(1) #&gall gt
(2) WSl Hrwt
(3) T HIAOEA =
(4) SO HAAGT GIh
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A 2 O @ 3
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< @ 3 @ @
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SR T, 1961 A wed 80(G)
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(A) ThRAT ST
(B) U o fasig <ot
(C) TaEidd & o e qomh

(D) FEId sheled HIVETR! TR QURT
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38.

39.

40.

Income under the head ‘Salary’ is
eligible for deduction under section
16(i) for AY 2019-20 is :

(A) Rs. 40,000/- or amount of salary

whichever is less
(B)
©)

Rs. 50,000
Rs. 40,000 or of 1/3 of salary,

whichever is less
(D) Nil
A house property with a fair rent
of Rs. 1,20,000 and municipal
valuation of Rs. 75,000 is neither let

out nor self-occupied throughout

previous year, its annual value will

be .ccoveeeeennn. .

(A) Rs. 75,000

(B) Rs. 1,20,000

(C) Rs. 60,000

(D) Nil

‘Indexation’ is applicable to :

(A) Sale of short term capital asset
(B) Sale of long term debentures
(C) Sale of depreciable capital asset

(D) Sale of long term capital assets,

which are not depreciable asset

38.

39.

40.
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a9 AT ISR 3cd= hi AR
T8 2019-20 AEET HaH 16(1) TIR

ETATATeh! SHITAT S ISaed 91

e ?

(A) 40,000 T fomdT Ia7 TRy ATTeRT
HHT G T TR FAh!

(B) 50,000 T9X

(C) 40,000 T fehar A= 1/3 WWhA
Fen! HHT MR RY

(D) T

Teh! B 3fEd 91 1,20,000 €93 1A
TRUTfeRT Jeadidhd 75,000 TI4 3T §

B ICPIERHU R LIS I AR CIRIEIC)

G T8 ¥ ATaReret el 7T =X

(A) 75,000 T
(B) 1,20,000 *93
(C) 60,000 TT
(D) i
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I9d :

(A) ST isdell A=t fasht
(B) SreehTela WSl AleTHer=] fosh
(C) SORERT Wiedell ™y fosht

(D) SERERT THUMT SIeehTele drgadt
HreTHe
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41.

A producer when supplies particular
goods and commodities to specified
distributors and guarantees not to
supply other distributors in a given

region is termed as ................. .
(A) Refusal to deal

(B) Tied selling

(C) Restraint of selling

(D) Exclusive dealing

41.
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Siegl wEe] foashar s19@n Icageh 3Ufaeh
& AL IcdreA ekl fafyrse forawerren
foehi= FalfER <dl o &1 faymmdia
I GO fIaTehTe ™ 3G
ForauT s AV AT STt BT <l et
................... S VAL

(A) TR FOIE Ffaud
(B) s famt
(C) forra wfqer

(D) HE! HIgRE 5

42. Under the provisions of section | 42. sfew fagm sy = e,
................ of the Banking Regulation 3:@*&]%‘;[ ST Jefen e 'Tj?ﬁ-r{ 0
Act, the SLR is applicable to @ R
scheduled banks.

(A) 42
(A) 42

(B) 43
(B) 43
(C) 47 ©) 47

43. Which of the following is appliable | 43. AT 1 ST faehtare! ar]

for inter-state sale ? Ted ?
(A) Central GST (A) =g a&] a1
(B) State GST (B) TS 9% Hal
(C) Integrated GST (C) THhIfcHeh a%] Hell
(D) State Value Added Tax (D) TF Wﬁ»jﬁ T
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44. Under the constitution, Finance

45.

Commission :

X)

(Y)

(A)
(B)
(&)
(D)

It is to be constituted every fifth
year.

It can be constituted when
President considers necessary.
Only (X) is correct

Only (Y) is correct

(X) and (Y) both are correct
(X) and (Y) both are incorrect

Match the columns :

(@)
®)

(c)

(d)

(1)

2)

3)
4)

Group A
Mercantilism
Theory of Absolute Cost
Advantage
Comparative Cost Advantage
Theory
Factor Endowments Theory
Group B
Heckscher-Ohlin
David Ricardo
Adam Smith
Maintaining Favourable BOP

Codes :

(A)
(B)
(&)
D)

(a)
(4)
(4)
(4)
4)

(b)
(1)
2)
3)
3)

(c)
(2)
3)
(1)
(2)

(d)
3)
(1)
(2)
(1)

MAR - 50223/11—D

44, TFEEATER, fom oM .

45.

&

ol

(A)
(B)
(®)
(D)

W U™ T AHAT ST

N oY NS
: SRl ASHATAl HlARden dlcd deel

@ AHAT ST TRl

k] & SRIeX 318
e J SeR 3Tg

o 9 J Trel aUe 3Rd

&g 9 ¥ Sl gk 3R

e Seedl

(@)
()
(c)
(d)

(1)
2)
3)
(4)

T A
MIRATE
i = oy fagi
JreAfer T @y fagia
wew faeit fagi

T T
TR SEe
e Rapref
steq fmy

SHenel ddeRIN Y]

- -
-
-

(A)
(B)
(&)
(D)

(a)
(4)
(4)
(4)
4)

(b)
(1)
(2)
3)
3)

(c)
(2)
(3)
(1)
(2)

(d)
3)
(1)
(2)
(1)
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46.

47.

48.

Which theory postulates that
countries will export those goods
that make intensive use of factors
that are locally abundant, while
import goods that make use of

factors that are locally scarce ?
(A)
(B)
©)

The Product Life Cycle Theory
Heckscher-Ohlin Theory

Theory of Comparative Cost
Advantage

Theory of Absolute
Advantage

(D) Cost

Which of the following is not a type
of BOP disequilibrium ?

(A) Cyclical disequilibrium

(B) Secular disequilibrium

(C) Structural disequilibrium
(D) Demographic disequilibrium

Which of the following countries was
not a member of SAARC when it was

established in 1985 ?
(A) Pakistan

(B) Maldive

(C) Afghanistan

(D) Bangladesh

46.

47.

48.

MAR - 50223/I1—D
IV THGTa STET <ol STl i, <30 372
SR fafa e T A SR
TR faqal SIeshi= FoATol ST Shal

S, GHE ST S!S A oh

ST SCATGATHTG! STEYIh H<eh T eh

FfHIEId gHles TR ?
(A) 3ceA Sfed =w fasm
(B) ¥R=R-3ieei fagid
(C) Wt == @w fagia
(D) fww == @ fagi

WTCATeTdeh! ShIUTAT SHEERITS STHHATATH
YR A& ?
(A) T A

(B) IEfehTelA 1A

(C) T{EATHS 3THHATA

(D) ATREEAToTR  STHHAA

Trehdl LT 1985 U FTel doal
ETeteTdeh! 10T 2 M= F9THS
Tl 2

(A) drfereerms
(B) wrAfea

(C) SAHIMUREA
(D) dFARY
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49.

50.

Which one of the following is not a
function of International Monetary
Fund (IMF) ?

(A) IMF provides technical advice
to its members regarding

monetary and fiscal policies

(B) IMF provides short-term
financial assistance to its
members to solve the balance of

payments problems

(C) IMF functions as a reservoir of
currencies of member countries
and enables the members to

borrow the other currencies

(D) To promote private foreign
investment by means of
guarantees on participation in
loans and other investment

made by private investors

Which one of the following is not a

form of non-tariff barriers (NTBs) ?
(A) Quotas

(B) Licensing

(C) Bargaining

(D) Voluntary export restraints

49.

50.

MAR - 50223/11—D

TeATcTush! IV STARTSET Aot
FE T ?

(A) TOIfael SAIeE TS Aifgew

CIURSEICIEEINEIERAIEE s Ggl

qferd

(B) SHOERIS THET Wrefauardrat
I YRGS A0 STeqehlen=

[N

foremere gfad

(C) ML GRS SegieedTe
HId WA 1 HId ST FHHGHT
3T I el S THY ld

(D) ISRt AAUERGRIT shetedl TaIehiH

9 FH gH Lo Tl JaavehE

EIEIG

TR IV SThTdaR SATIR TS el
a2

(A) 91

(B) war

(C) dre

(D) s frafa frefe
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51. As per which accounting convention | 51. WY IO HhATTAR ANtk o
depreciation is provided for in the TAHT TR RS el W ?
annual financial statements ? . )

(A) EIEYAA Hehd
(A) Convention of conservatism
(B) TR@ weom=at Heha
(B) Convention of going concern
: . (C) WRaeh Hehd
(C) Convention of materiality
(D) Convention of consistency (D) T Hehd

52. Management audit is an extension | 52. THEEATYT Feheror g = =1 foer

0) A . 38,
(A) Cost audit (A) ufieqa siaherm
(B) Efficiency audit (B) HTAeTal 3Teheto
(C) Special audit (GRENERECE L
(D) Internal audit (D) 3ffa Srehero
53. The material price variance arises | 53. T ot AT forAd dwred
because of .................. . .
(A) Non-standard material mixture (A) Tom ST e fas
(B) Pilferage of materials
(B) HreA= Y&l =@
(C) Loss of cash discount
(C) U@ HE THE
(D) Carelessness in the use of
material (D) AT BIIBUHEA  feehTeasqum
21 [P.T.O.



55.

................. system, costs are first

traced not to activities but to an

organisational unit such as
department or plant and then to

product.

(A) Traditional Costing
(B) Activity Based Costing
(C) Target Costing

(D) Kaizen Costing

MTC Ltd. sold 275,000 units of its
product at Rs. 37.50 per unit.
Variable cost are Rs. 17.50 per unit.
(Manufacturing cost Rs. 14 and
selling cost Rs. 3.50 per unit). Fixed
costs are incurred uniformally
throughout the year an amount to
Rs. 35,00,000 (including depreciation
of Rs. 15,00,000). There are no
beginning and ending inventory.
How much sales company should

make to earn a desired profit of

Rs. 250,000 ?

(A) Rs. 70,00,000
(B) Rs. 75,00,000
(C) Rs. 73,50,000
(D) Rs. 70,31,689

55.
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T SUSHHTER = =l T ThahITaR
ESSUS IS EERCEINRCEIRSRERS IR

MR TIIR Sl Sl

(A) IR uftea Ao

(B) SushHenia uftemm fawfo
(C) weafuftea aftemm fuio

(D) wEEE Rea fAui

T fa. o= AT 275,000
T 37.50 A Fait T S foeher. @@=
¥ IR 17.50 T Wt 79 318 (A1
IRETT 14 w93 9 foshl 9 3.50 €0
Tt ). eeR T 81 e’ FHAC S
A @ 35,00,000 TTF (FER gEA
15,00,000 T93) 3. AT foeRTolt gRef=
g JEEl He |ie1 ARl W 250,000 €93
sTaferd o fHesfamamarel sad fohdt

foen=n goetl TeEl ?

(A) 70,00,000 ¥4
(B) 75,00,000 ¥4
(C) 73,50,000 ¥4I

(D) 70,31,689 T4
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56.

57.

58.

The price band in case of IPO

represents ..........ceuuennee .
(A) Price range of share
(B) Band Box

(C) Average price

(D) Market value

Margin of safety can be improved

by o .

Increase of variable cost per
unit

(B)

Decrease of sales price per unit

(C) Decrease of variable cost per
unit

(D)

Decrease of sales volume

Indian companies are generally

following Human Resource

Accounting according to model as

suggested by :

(A) Morese

(B) David Watson

(C) Lev and Schwartz

(D) Flamholtz

56.

57.

58.

MAR - 50223/1I—D

IRIYh Hrelsier J&de @l fehaaa=a

(A) W= fhma geen
(B) ¥t

(C) " fohma

(D) 9N oI

(A) el 1 = IReHF[ oe
(B) et 7 forsnt feredia =e
(C) wdl = <9 qRedd o
(D) forsnt wftATME =12

WS U= HHa] TR Aeieh

faY ~ ~ NN N
% doelcd AIAHIA AGd  encdelHHTY

hIdld

(A) TR&

(B) <fe aleeH
(C) @@ 3 @red
(D) Hemeeg
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59.

60.

Match the following pairs :
Group A

(@) Confirmation of certain facts
(b) Opinion on final accounts

(¢) Review of internal control
systems

(d) Compulsory under Companies
Act, 2013

Group B
(1) Internal control
(2) Statutory audit
(3) Report
(4) Certificate
Codes :

(@ B) () (@
Aa @ 3 @O @
B 3 O @ @
oo oL @ 2 B

O 4 O @ G

The cost audit report is to be

submitted within :

(A) 120 days from the close of the
company’s financial year

180 days from the close of the
company’s financial year

(B)

(C) 90 days before the annual

general meeting

(D) 60 days before the annual

general meeting

59.

60.
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Teita Siredl Jeodl

e A

(@) fafere aegfead= gt
(b) 3ifqH iedER w7
(c) oiava fTa=Ivr qeed=n e
(d) HIA FwEEI, 2013 TER AR
e d
(1) efata o
(2) et sfehero
(3) oTeaTd
(4) <TG
Hehdich :
(@ ) (© (@
a @ 3 O @
B 3 O @ @
© O @ @2 &
O @ O @ G

(A) U 3T a6 Foearagd 120
feerama

(B) o= efifeish o SeAaigT 180
[EERIN

(C) anftien FefamaRo FAget 90 feadm
(D) afSieh FerETeRer 99ge 60 feadma




61.

62.

63.

Business economics is concerned

economics.

(A) Normative
(B) Positive

(C) Alternative
(D) Descriptive

When the price of petrol decreases,

the demand for automobile
increases. It implies that petrol and

automobiles are .................. .
(A) Substitute goods

(B) Complementary goods
(C) Inferior goods

(D) Normal goods

Which of the following is not the

property of indifference curve ?

(A) Indifference curve is downward
sloping

(B) Indifference curve is concave to
origin

(C) Indifference

curve never

intersect each other

(D) A higher indifference curve

gives higher satisfaction

61.

62.

63.
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(B) goEasamEmRt
(C) Tt

(D) iR
Segl Uereret fepdd sred smfor ameAr=n
AN dTed deeT o Ui oMo amee A

(A) FHTT Ik F®A ©Tet A

(B) §HeRl oo RY fagefl sidas®

STHATd

(C) eI ok UhHehi-T ShTel Bad Al

(D) SToqH HIT! 9% gl Fared FHEH
EGll
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64.

65.

66.

Which of the following activities
related to production cannot take

place in the short-run ?

(A) Change in quantity of labour
employed

(B) Decrease in output

(C) Increase in the capacity

(D) Regular maintenance of the

plant

Increasing returns to scale refers
Ot .

(A) More

increase in output

than proportionate

(B) Proportionate increase in
output
(C) Less than proportionate

increase in output

(D) Multiproportionate increase in

output

is a combination where

the slope of the isoquant is equal to
the

(A)
(B)
(&)
(D)

slope of the isocost line.
Balanced cost input
Least cost input
Maximum cost input

Cost of production

64.

65.

66.

MAR - 50223/11—D

ScqreTeh e Ereiierient shivrea sl

FCUhTld TS I ¥ehd AR ?

(A) USTIUTE  STHT=AT TS 9ed

(B) 3RARIS o2

(A) YEHTdA GHTISGAUeT 31 o%

(B) WMl YHIeg e

(C) UEHNA YHUEGAUeT St are

(D) YSHIdIE SgIAISG a1

3TEM ST 3TEd ohl 1Y FHA

FehT & ST TG W 96 Tharal
T

(A) I9da @ ST
(B) fomm w4 oM
(C) HewH T 3
(D) SUERA @
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67.

68.

69.

When the total cost equals total
revenue, it is known as ............... .
(A) Expansion point

(B) Break-even point

(C) Shut-down point

(D) Focal point

In which of the following market

structure, advertising expenses are

least ?

(A) Monopoly

(B) Duopoly

(C) Monopolistic competition

(D) Oligopoly

With respect to the consumer

surplus, which of the following

statements is not correct ?

(A) It is a difference between what
price consumer is willing to pay

and what he actually pays

(B) It is the total benefit the
consumer receives beyond what

they pay

(C) It is the value that consumer

receives

(D) It is the extra price paid by the

consumer

67.

68.

69.

MAR - 50223/1I—D

Siegl TRt ©E AU THUT Tl HHH

e S
(A) fawr fog

(B) W= foig

(C) ¥ 5% FO fEEa qgiEn fig
(D) i foig.

EATeTUeh! ShIVIcHT ST TL=-d STgLdre

e B feam ewdr ?
(A) HRGRI

(B) gAMEHR

(C) TRRRIgE Wl
(D) AcIEEh

Fvd fouE s @ ?

(A) TR w1 fRad 39 sfesdr sufor

qA JIIT HEF oAl A Bk

e

ek <d STEUFT fehadieriat sTfe
FEIA TR A9 B

(B)

(C) UTEHhTeAl It ATAd THTT HH

faSla o~

ek feaia o 1fafea fwraa

e

(D)
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70.

71.

Which of the following is not a

requirement under price skimming ?

(A) A product must be new and

distinctive
(B) A product must be imported

(C) A product must not have a close

substitute

(D) A product should have prestige

value

Calculation of ...................
capital only consider incremental
change in the capital structure. It
helps to know the minimum rate of

return to be generated on the

financing of the new project.

(A)

Overall cost of capital

(B) Weighted average cost of capital

(C) Marginal cost of capital

(D) Retained earnings cost of

capital

70.

71.
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TS AN A ~ a
g | I%HGIHC{‘T&‘T LllletYen| nlVldl
e AEYIS ATar 2

(A) o FaH 3fol Ha=sceh STHE!

(B) o%] 3G heiell TETEt

(C) I ASfier=l qata =dTel

(D) oI YfdseMed 39

QX ShiedTl Thekd JIere iedd

GLEAdA 9Gd A&Td Hdel Sl e

oS

Afae Yehoura faxiieReor A foram

T X i ((IAfcd) IRA 7 Fe

ITehdl.
(A) Taoel wieae e
(B) 9d TEd vigdd qiiemd

(C) ¥ wiead e

(D) S Udeiclt Hesshd Wiead IR
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72.

73.

74.

The risk that arises due to change
in purchasing power is called

aS e .
(A) Inflation risk
(B) Market risk

(C) Business risk
(D) Financial risk

The selection of one proposal based

on the choice of other proposals is

called ......ccccuveenne. .
(A) Contingent investment proposal
(B) Replacement proposal

(C) Independent investment

proposal
(D) Mutual exclusive proposal

Which of the following is expression

for operating leverage ?

Contribution

&) EBIT

(B) EBIT/Contribution
(C) Contribution/EAT
(D) EAT/Contribution

MAR - 50223/1I—D

72. TS YK W€ BIUAHES SQUSTA

73.

(A) wermE (formd <) Shef™
(B) 9NIR S|

(C) =g Sretd

D) forfra e

TAX FEIET=A1 i:ldS/q{‘id']VJI SHRINER

frotame

Qeliql  Hxdla TR RO

(A) e T[qaveh &E

(B) scel g&E

(C) a3 T[adUeh T

(D) T AT g

74. HEHST AR @eiaden! HO[ 2

ST Shsiied T

(A)

(B) ST il Th1/3TTEH

(C) STIEM/FHIT TTH

(D) HUTL TR/ AICH
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75.

76.

77.

A Company Ltd. issued Rs. 100
lakhs 14% Debentures of Rs. 100
each. Tax rate is 40%. Calculate cost
of debt with 10% premium and 5%

floatation cost.
(A) 8.03%
(B) 15.27%
(C) 7.76%
(D) 14.23%

Demand for foreign currency is

influenced primarily by :
(A) Size of export

(B) Size of import

(C) Size of interport

(D) All of the above

Market value of the firm is a result

Of e .

(A) Investment decisions

(B) Financing decisions

(C) Working capital management

(D) Risk return trade off

75.

76.

77.

MAR - 50223/11—D

oo

T &yl fatieed 100 €99 @™ 14%
FSE Yt 100 T4 gHO fasd
. IR T 40% 3R 5% TATTHI
IReTg S 10% IR T8I S
Exfirczeiicic)

(A) 8.03%

(B) 15.27%

(C) 7.76%

(D) 14.23%

fodeft wrert Ao e
.................... I gyfaa o g

~ ¢

(A) TIACAET 3AThTHE

(B) 3TEITE=T STehILAT

(C) AdEETT ATHTAT

(D) Tkt |

=t Rofdl 3T

(A) Ak T
(B) fowtta fAofa

(C) W HiSaal™ AT

-~

(D) STEfH-Hgga A T
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78.

79.

80.

Pits are .................. .

(A) The place where deals are made
(B) A type of broker

(C) A form of margin money

(D) A form of hedging

Higher exchange rate risk/political

risk .oooovviiiniienns .
(A) Adds to the cost of capital
(B) Lessens the cost of capital

(C) Bears no influence on the cost

of capital

(D) Does not add to the cost of
capital
Cocktail bonds are denominated

IN e .
(A) Egypt pound
(B) US dollar
(C) Japanese yen

(D) Euro

79.

80.
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(A) a1 foshroll SFEER el S
(B) ST TR

(C) drmr (wfs) T

(D) SER&UET TR

(a)

HexH TSEoGd G S H/TSTeh T SvEy

(A) Yead eI o€

(B) Wiead Uiead &HT hi0l

(C) vigad YReggraR kel 9fomy
B

(D) 9edd UReIad el WX HTdal
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81.

82.

83.

Arithmetic mean is the most popularly

used average because ............. .
@
(it)

It is based on all observations

It is least affected by extreme

observations

It

mathematical treatments

(zi1) is capable of further
@iv)
)
(A)

(B)

It is rigidly defined

It possesses sampling stability
), (@), (i), (iv), (v)

@), (D), (), (v)

C) @, (), Gv), (v)

D) @), (v)

Standard deviation of 7, 7, 7, 7, 7

IS tiiiiiiiiiiiin, .

D) 49

If A and B are independent events
with P(A) = 0.7 and P(B) = 0.8, then
P(AAUB) = cciiiiie .

(A) 0.94

(B) 0.56

(C) 0.75

(D) 0.80

81.

82.

83.
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TN e BT Falfeeh AehiUa TR WA

e S IR

() T g FRieomeR sEeed o TEd

(ii) = (extreme) &N 21 TSR
TR 9RO B AR

(ii) Gerel Tt Tfsharm =1 TRERieR 3R
B

(v) I GUE= AT sl 38

(v) o FEEHE T ¥ (sampling
stability) 3T&d

A) @), (), (), (o), (v)
B) @), (i), (Gv), (v)

C) @), (@), (v), (v)

D) @), (v)

7,7, 7,7, 7 A ™ gHO foEed

(A) 7

B) 7

C) 0

(D) 49

S A 3for B = fRaeslt (independent)

AT 3Tt ad= P(A) = 0.7 31rfor
PB) = 0.8 310 T P(A UB)=........ )

(A) 0.94
(B) 0.56
(C) 0.75
(D) 0.80
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84.

85.

Suppose the number of accidents per
week on a certain highway follows
Poisson distribution with mean 2
then the percentage of weeks
having no accidents is ....................

(Given e2 = 0.1353)
(A) 27.06%
(B) 6.77%
(C) 13.53%
(D) 7.39%

The score in a certain examination
follows normal distribution with
mean 50 and standard deviation 16
then the marks of top 10%
candidates will have score more

than ........c....... .
(A) 90
(B) 87
(C) 97

(D) 95

MAR - 50223/1I—D

84, THST TEMET HeMIEald TS

TS Tl foaawor gigd 218 o &

A 2 YA TR STYEISH SSTSATH]

(e72 = 0.1353 et o)
(A) 27.06%
(B) 6.77%
(C) 13.53%

D) 7.39%

85. TEmE ThaHH e U Faed faaRe

UM 3T8A o T /e 50 ST JHI07

faere 16 38 T TAH 10% SHEIR™

(A) 90

(B) 87

(C) 97

(D) 95
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86.

87.

88.

Level of significance in testing of

statistical hypothesis 1is the
probability of .................... .

(A) Rejecting Hy when it is true
(B) Rejecting Hj when it is false
(C) Accepting Hj, when it is true
(D) Accepting Hj when it is false

The standard error of sample mean
based on 100 observations from
normal distribution with mean 50

and standard deviation 5 is ............ .
(A) 1
2

(B) L
100

(&) L
20

1
(D) 2
A research which involves surveys

and fact finding enquiries is called

research.

(A) Analytical
(B) Applied
(C) Conceptual

(D) Descriptive

86.

8'7.

88.
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TEAYMSIT Iiaeudr s,
Ae&ruitaar arael (Level of significance)
................... g’.w _bpl_q..

(A) H0 g STHarT fa=n < v

(B) Ho ST 3THAMT T ST v

(C) H,, & STEaH ferel TiiehR shior=i

(D) H,y T8 ST =i FEehR HLoarEt

e 50 30T gHoT fo=es 5 STHon=an

T forRome e ®eresn 100 e

1
(D)E
S gYiYAa et fher goawied

IeReN=l STy STEdl a9

ThRE I T TUE.
(A) Ivafoes
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89. If corr(x, y) = 0.70, then the coefficient | 89. <X corr(x, y) = 0.70 I, T R

of determination is ................... : TR 1.
(A) 0.70 (A) 0.70
(B) 0.35 (B) 0.35
(C) 0.49 (C) 0.49
(D) -0.70 (D) -0.70

[ o

90. In writing technical report which of | 90. i 37eeTel fetfeam™1 Jereruent shivrea

the following things are given main efer ged R fean S ?

emphasis ?

() YgdrEn STeadd

() the methods employed

(i) STIReTel TRIde

(11) assumptions made

(iii) TURNOR AU
(i) the detailed presentation
({v) LY
(fv) simplicity
. (v) SATHSHAT
(v) attractiveness
(A) (l), (iv), (U) (A) (l), (iU), (U)
B) @), @), i) B) @), @), (i)
(©) (@v), (v) (C) (@v), (v)
D) @), (1), {i), (), (v) D) ), (D), Gii), Gv), ©)
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92.

93.

.................. is a technique for planning
and controlling complex projects and
for scheduling the resources required

for such projects.

(A) Competition analysis
(B) Network analysis
(C) Financial analysis
(D) Internal analysis

is based upon the
assumption that the man is a
rational being and will try to

maximise his pay-off.

(A) Maslow’s model

(B) Likert’s four system model
(C) Ouchi’s theory Z

(D) Vroom’s expectancy model

Which one of the following is
quantitative technique of man-

power planning ?
(A) Job analysis
(B) Job description
(C) Job rotation

(D) Regression analysis

91.

92.

MAR - 50223/11—D

S Yehedr™ a9 faeH 98w
eI ol Hid AT TN HL0Ar=
T 1 RO 7

(A) Tt fergetomm

(B) &St fergeroon

(C) focima fawersm

(D) it fergetomn

AT B SgfoRTeh STEA 1 STl 3ca—=T
AECAHIh{0T HITATAT I &, AT
S S —— P N —

(A) "= giqas
(B) wifehda IR WOMS STHUR WiaHH
(C) == == e fagid

(D) gH A< ARie FiaHH

93. Wefiedsh! HIV T & I SAeeaTeAl

o

RRISEICERICI e C i r
(A) e fagerom

(B) & aviF

(C) = aRadd

(D) HHERE fogerso
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94.

95.

Transactional analysis was devised

by e, .
(A) Herzberg
(B) Maslow
(C) Berne

(D) McClealand

Which of the following is not
required for determining the

organisation structure ?

MAR - 50223/1I—D

94. 3ITaleHadl <aue fageiour & Hehed

95.

(A) ®star
(B) #re=dl
(C) =

(D) Henfeleivs

oo

TEE ST g9 A

dd e {dl-l

qEITUsh! hIMEl STEvahdl ATar 2

(A) 3u¥ fageiom
(A) Activity analysis
(B) ot fagerom
(B) Decision analysis
C) wfafaa fagersm
(C) Reflection analysis ©)
(D) Demand analysis (D) st fergersmr
96. Which one of the following is the | 96. WIeHcUeh! IV G5 § HTES (AN
qualitative technique of manpower U 3 3T ?
planning ?
(A) 9@ 9 B () S
(A) Time and motion study
(B) Tegeday fergetsmon
(B) Trend analysis
(C) Regression analysis ©) w=
(D) Job analysis (D) & fagemm
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98.

tests are used for

recruitment of individual for jobs
demanding experience, transfer and
promotion of existing employees and

training purposes.

(A) Achievement tests

(B) Aptitude tests

(C) Personality and interest tests

(D) Power and speed tests

is not an example of

non-financial incentive.

(A) Improved attitude

(B) Supervisory relationship

(C) Job satisfaction and enrichment

(D) Team based pay

97.

98.
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AN A

STV STAYIhdl 3T AR, G,

T HHATAE Sedl o W¥Ier a@
HROMETS aTIed] SO=a] AT o]
(A) g =TT
(B) s ==l

(C) foqwd o AT aT=on

(D) I G T TN

o) N

JEITdeh! RIS TeaTeTe eyl

TE 2

(A) SfedMd HRRIHE a5
(B) wHagia weHaY
(C) e T d FEge

(D) TeETERA oA
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................... is undertaken to ensure
that capable managers are available
to fill vacancies resulting from
promotion, retirement, death,

resignation and transfer.

(A)

Executive Training

(B)

Management Development

Programme

(C)

Succession Planning

(D)

Human Relations Internship

Training

100. Which of the following is not the

concept of informal organisation ?
(@)
(®)
(c)

Group norms
Group roles

Mechanical hierarchical

structure/leadership

(d)

Group cohesiveness
(A) Only (a) and (b)
(B) Only (b) and (c)
(C) Only (¢)

(D) All of the above

99.

100.
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ha o o

il

e, T, TSI a8 SIg et

TS HROMHes U Teiean ahre=

STd S0 e GUR AT 3qeTsd

BT
(A) wESRR gfeem

(B) =Haea9q faehes hTdehH

[V o NN

(C) Sty i s

(D) Al Tegey Adartddr gfrero
AR Foea=l qEeTdsh! hIvTT
HehoUuql AT ?

(@) TE HHCS

(b) T e

(c) A 2o AIH =/ AT

(d) TE THTEA
(A) ®Fd (a) 9 (b)
(B) & (b) 9 (¢)

(C) & (c)

(D) =it gel
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